=]
=voTrscH

P E R F O R M A N C E

www.evotech-performance.com

Ducati Streetfighter V4 / S Crash Protection
Installation Instructions



®

Installation Instructions  —

Kit Contents PRN014728

(A 1 x R/H Bobbin Bracket (M) 2 x Bobbin Spacer
1 x R/H Frame Spacer (Long) (N) 2 x Large Bobbin Head
(© 1 x L/H Bobbin Bracket

(©) 1 x L/H Frame Spacer (Short)

(B) 1 x M12 x 90 Caphead Bolt (Left Side)

(F) 1 xM12 x 110 Caphead Bolt (Right Side)

(@) 2 x Polyurathane Washer

(H) 2 x M12 Washer

(D 2 x M6 x 60 Caphead Bolt

(2 2x M12 x 75 Caphead Bolt

(K) 2 x Grommet Top Hat Inner

(L 2 x Grommet Top Hat Outer




._\\\ ®

Installation Instructions 1 ==







1oNns

Instruct

on

Installat













§-F o

Installation Instructions

o ;
m’/ D




Installation Instructions

..

o







B s e ———

Installatin Instructions
=




Installation Instructions







Installation Instructions







P
Installation Instructions







Instructions

ion

Installat







Installation Instructions




Installation Instructions




I

Installation Instructions




In;tallat

(%)
S
<

Itut

ion







! 1
et

Installation Instructions







Installation Instructions

/







|
c
Q
+—
)
+ |
(%]
=a
| ©
1.0
=
¢ S
©
o+
(%]
=




Installton Inst




—

Installation Instructions

-




InsaIIation Instructions

,.v’ b









= Ay

- m—

Istructions

Installation

Only
Caution Pre Locate

—— —TTT




'; { g

Installation_ Ist




= S

Do Not Fully ~
Caution Tig hten




//
Do Not Fully
Caution Tig hten

- =




b

N

Fully Tighten
Caution 1 2Nm




Installation Instructions

Fully Tighten
Caution 1 OON m

—T




Installation Instructions 40 ==




Installation Instructions 41 ==




®

___installationnstructions @ 42 Ly




Installation Instructions







o

Installation Instructions

\

Fully Tighten
| Gaaton 4ON m




®
. . N
Installation Instructions —~—4

R t St
(( 1e_r;eSa ages

For Left Hand Side




Installation Instructions —_——

A ESSENTIAL CHECKS A

It is recommended that periodic inspections are made to
ensure that all bolts are tightend to the specified torque settings.

Should the bike be involved in an accident a thorough inspection
should be made and any components that have taken an
impact, no matter how small, be replaced



=]
=voTrscH

P E R F O R M A N C E

www.evotech-performance.com



